# District School Board of Pasco County Bid Recommendation

Bid Title	Furniture, 3 New Schools: Fivay HS, Connerton Elem., Odessa Elem (Part I)	Number of Vendors Notified	376
Bid Number	11-001-AF	Number of Bids Distributed	181
Date Solicited	December 10, 2009	Number of Vendors Bidding	14
<b>Date Opened</b>	January 29, 2010	Number of Formal "No Bid" Responses	1
Date Board Presentation	February 16, 2010	Funding Source	Capital & General
<b>Total Savings</b>	Approx. \$206,800.76	Grand Total of Bid (Part I)	\$321,622.62

**Recommendation**: Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best bid meeting written specifications.

<u>Term of Contract</u>: Part A, for a period of one (1) year from date of award. Part B, manufacturer's discount off list price, for a period of one (1) year from date of award, with two (2) consecutive yearly renewals at the mutual consent of the parties.

<u>Notations and Exceptions</u>: In Part A, each Award Group was awarded "all or none" for compatibility of product. The bid from Melhart Music was disqualified at the bid opening for failure to provide a mandatory bid bond on Part A. The bid from Blossom Distribution was disqualified at the bid opening for failure to provide pricing for Part A or a manufacturer's discount off list price for Part B.

Award Group #5, Computer tables: Recommend rejection of low bid from Pride Enterprises, bidding an alternate computer table that does not have a wire management system. The schools which currently have the specified table in use report lower incidence of vandalism due to the table's locking wire management tray. Recommend acceptance of bid from Virco, Inc. as lowest and best responsive, responsible bid meeting written specifications.

Award Group #7, First aid lounger: Recommend rejection of low bid from Holmes & Brakel International, bidding an alternate lounger. The alternate does not have a paper dispenser, which is required by Student Services. It is also 1" taller. Recommend acceptance of bid from School Specialty as lowest and best responsive, responsible bid meeting written specifications.

#### **Notations and Exceptions, continued:**

The following Award Groups are still under evaluation, and will be submitted to a future Board meeting: Award Group #2, Pedestal Tables; Award Group #3, File Cabinets; Award Group #4, Administrative chairs; Award Group #6, Metal Shelving; Award Group #8, Administrative Furniture; Award Group #9, Teacher Furniture.

Under Part B, on items where no active or valid bids were received, we will review bids from other counties and school districts, and Florida State Contract, and attempt to "piggyback" where it is in the best interest of the District to do so. We are also requesting permission to negotiate as required with interested parties regarding other manufacturers listed in the bid document. Any such negotiations will be forwarded to subsequent Board meetings for consideration and approval.

The requirements of this bid are for the three (3) new schools as noted above. For all items, quantities listed may vary slightly, but unit prices will remain the same. Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Cost savings have been calculated as the difference between the highest bid and lowest bid received under Part A for each Award Group.

#### **Bids Evaluated By:**

Amy Flack, Buyer Assistant

#### **Bid Prepared By:**

Amy Flack, Buyer Assistant, Purchasing Department

#### Reviewed and Authorized By:

Kendra Goodman, CPPO, CPPB, Purchasing Agent

DATE OF	OPENI	NG: January 29, 2009 @ 1:30 pm	C	CBA	Ernie Mor	ris Enterprises
TITLE: 1	Furniture	e 3 Schools COES, ODES, & FHS	36 Weatl	herby Drive	PO I	Box 818
BID NUM	IBER 11-	001-AF	Greenville	e, SC 28615	Bushnell, FL 33513	
		**Board Meeting March 2, 2010**				
ITEM#	QTY.		INIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #1				
		Manufacturer: spec Scholarcraft 120				
PSF1A		13 1/2" - 14" stack chair		No Bid		No Bid
PSF1B		15 1/2" - 16" stack chair		No Bid		No Bid
PSF1C		17 1/2" - 18" stack chair		No Bid		No Bid
PSF1D	164	11 1/2" - 12" stack chair		No Bid		No Bid
		Manufacturer: spec Scholarcraft SC2200-FBBK				
PSF2	1,353	Student desk w/bookbox		No Bid		No Bid
		Manufacturer: spec Scholarcraft 2700FB				
PSF2A	1,705	Student desk w/out bookbox		No Bid		No Bid
		Manufacturer: spec Scholarcraft 120				
PSF4A	748	Teacher chair with casters		No Bid		No Bid
		Manufacturer: spec Scholarcraft 9400 series				
PSF5A	538	Table 30" x 60"		No Bid		No Bid
PSF5B		Table 36" x 60"		No Bid		No Bid
PSF5C		Table 36" x 72"		No Bid		No Bid
PSF5D		Table 24" x 48"		No Bid		No Bid
PSF5F		Table 48" round		No Bid		No Bid
PSF5H	114	Table 48" x 72" kidney		No Bid		No Bid
		TOTAL FOR AWARD GROUP #1		No Bid		No Bid
<u></u>						

DATE OF	<b>OPENI</b>	NG: January 29, 2009 @ 1:30 pm	nuary 29, 2009 @ 1:30 pm Heritage Product Resources Hertz Furni		Furniture	
TITLE: F	urniture	3 Schools COES, ODES, & FHS	207 N	W 1st Ave.	95 Mc	ckee Dr.
<b>BID NUM</b>	BER 11-	001-AF	Mulberry	y, FL 33860	Mahwah	, NJ 07430
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #1				
		Manufacturer: spec Scholarcraft 120			Academia ACD1	
PSF1A		13 1/2" - 14" stack chair		No Bid	18.80	23,429.65*
PSF1B		15 1/2" - 16" stack chair		No Bid	22.01	25,601.96*
PSF1C	,	17 1/2" - 18" stack chair		No Bid	22.43	63,260.84*
PSF1D	164	11 1/2" - 12" stack chair		No Bid	18.68	3,064.20*
		Manufacturer: spec Scholarcraft SC2200-FBBK				ACD-1100ws
PSF2	1,353	Student desk w/bookbox		No Bid	41.62	56,311.96*
		Manufacturer: spec Scholarcraft 2700FB			Academia OPV-1400vws	
PSF2A	1,705	Student desk w/out bookbox		No Bid	38.12	64,999.36*
		Manufacturer: spec Scholarcraft 120			Academia	ACD-128cp
PSF4A	748	Teacher chair with casters		No Bid	42.45	31,749.97*
		Manufacturer: spec Scholarcraft 9400 series			Academia V	arious Models
PSF5A	538	Table 30" x 60"		No Bid	97.78	52,605.76*
PSF5B	40	Table 36" x 60"		No Bid	109.30	4,372.08*
PSF5C	47	Table 36" x 72"		No Bid	122.57	5,760.91*
PSF5D	80	Table 24" x 48"		No Bid	56.05	4,484.19*
PSF5F	16	Table 48" round		No Bid	122.12	1,953.88*
PSF5H	114	Table 48" x 72" kidney		No Bid	140.32	15,996.77*
		TOTAL FOR AWARD GROUP #1		No Bid		353,591.53*
					*Vendor math er	rors, extended and
					all or none bid	l price incorrect
	•	-		•		•

DATE O	OATE OF OPENING: January 29, 2009 @ 1:30 pm		Holmes & Brakel International		Longs Electronics	
TITLE:	Furnitur	e 3 Schools COES, ODES, & FHS	3901 Coconut	t Palm Dr, Suite 102	2630 5th Avenue South	
BID NUM	<b>1BER 11</b>	-001-AF	Tamp	a, FL 33619	Irondal	e, AL 35210
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #1				
		Manufacturer: spec Scholarcraft 120				_
PSF1A	,	13 1/2" - 14" stack chair		No Bid		No Bid
PSF1B		15 1/2" - 16" stack chair		No Bid		No Bid
PSF1C	,	17 1/2" - 18" stack chair		No Bid		No Bid
PSF1D	164	11 1/2" - 12" stack chair		No Bid		No Bid
		Manufacturer: spec Scholarcraft SC2200-FBBK				
PSF2	1,353	Student desk w/bookbox		No Bid		No Bid
		Manufacturer: spec Scholarcraft 2700FB				
PSF2A	1,705	Student desk w/out bookbox		No Bid		No Bid
		Manufacturer: spec Scholarcraft 120				
PSF4A	748	Teacher chair with casters		No Bid		No Bid
		Manufacturer: spec Scholarcraft 9400 series				
PSF5A	538	Table 30" x 60"		No Bid		No Bid
PSF5B	40	Table 36" x 60"		No Bid		No Bid
PSF5C		Table 36" x 72"		No Bid		No Bid
PSF5D		Table 24" x 48"		No Bid		No Bid
PSF5F	16	Table 48" round		No Bid		No Bid
PSF5H	114	Table 48" x 72" kidney		No Bid		No Bid
		TOTAL FOR AWARD GROUP #1		No Bid		No Bid
	1	1	<u> </u>		<u> </u>	

DATE OF	F OPENI	NG: January 29, 2009 @ 1:30 pm	Melhart	Music Center	Office Fu	rniture Center
TITLE: I	Furniture	e 3 Schools COES, ODES, & FHS	3325 N	. 1oth Street	2117 West Lemmedu Blvd.	
BID NUM	IBER 11-	.001-AF	McAller	n, TX 78501	Tampa,	FL 33606
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #1				
		Manufacturer: spec Scholarcraft 120				
PSF1A		13 1/2" - 14" stack chair		No Bid		No Bid
PSF1B		15 1/2" - 16" stack chair		No Bid		No Bid
PSF1C		17 1/2" - 18" stack chair		No Bid		No Bid
PSF1D	164	11 1/2" - 12" stack chair		No Bid		No Bid
		Manufacturer: spec Scholarcraft SC2200-FBBK				
PSF2	1,353	Student desk w/bookbox		No Bid		No Bid
		Manufacturer: spec Scholarcraft 2700FB				
PSF2A	1,705	Student desk w/out bookbox		No Bid		No Bid
		Manufacturer: spec Scholarcraft 120				
PSF4A	748	Teacher chair with casters		No Bid		No Bid
		Manufacturer: spec Scholarcraft 9400 series				
PSF5A		Table 30" x 60"		No Bid		No Bid
PSF5B		Table 36" x 60"		No Bid		No Bid
PSF5C		Table 36" x 72"		No Bid		No Bid
PSF5D		Table 24" x 48"		No Bid		No Bid
PSF5F		Table 48" round		No Bid		No Bid
PSF5H	114	Table 48" x 72" kidney		No Bid		No Bid
		TOTAL FOR AWARD GROUP #1		No Bid		No Bid
	•					

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Pride Enterprises		Schoolhouse Products Inc.	
TITLE: F	Furniture 3 Schools COES, ODES, & FHS	12425 28th St. North, Suite 300		13517 Prestige Place, Suite 101	
<b>BID NUM</b>	BER 11-001-AF	St. Petersburg, FL 33716		Tampa, FL 33635	
	**Board Meeting March 2, 2010**				
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE		UNIT PRICE	TOTAL PRICE
	Award Group #1				
	Manufacturer: spec Scholarcraft 120		ride		7100 Series
PSF1A	1,246   13 1/2" - 14" stack chair	25.00		14.29	,
PSF1B	1,163   15 1/2" - 16" stack chair	27.00	,	15.28	,
PSF1C	2,820   17 1/2" - 18" stack chair	28.00	,	17.00	,
PSF1D	164 11 1/2" - 12" stack chair	24.00	3,936.00	14.29	2,343.56
	Manufacturer: spec Scholarcraft SC2200-FBBK			Artco Bel	l - DAOD
PSF2	1,353 Student desk w/bookbox	57.00	77,121.00	30.65	41,469.45
	Manufacturer: spec Scholarcraft 2700FB			Artco Bell - 9100 Series	
PSF2A	1,705 Student desk w/out bookbox	47.00	80,135.00	34.00	57,970.00
	Manufacturer: spec Scholarcraft 120			Artco Be	ll - 7167P
PSF4A	748 Teacher chair with casters	61.19	45,770.12	50.60	37,848.80
	Manufacturer: spec Scholarcraft 9400 series			Artco Bell -	1200 Series
PSF5A	538 Table 30" x 60"	119.57	64,328.66	71.03	38,214.14
PSF5B	40 Table 36" x 60"	125.79	5,031.60	77.76	3,110.40
PSF5C	47 Table 36" x 72"	133.56	6,277.32	83.35	3,917.45
PSF5D	80 Table 24" x 48"	107.91	8,632.80	53.73	4,298.40
PSF5F	16 Table 48" round	128.13	2,050.08	71.85	1,149.60
PSF5H	114 Table 48" x 72" kidney	148.34	16,910.76	116.27	13,254.78
	TOTAL FOR AWARD GROUP #1		451,704.34		287,092.56

DATE OF	OPENING: January 29, 2009 @ 1:30 pm	School Specialty		Virco	
TITLE: F	Furniture 3 Schools COES, ODES, & FHS	100 Parago	on Parkway	Hwy. 65 South	
<b>BID NUM</b>	BER 11-001-AF	Mansfield, OH 44903		Conway, AR 72032	
	**Board Meeting March 2, 2010**				
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE		UNIT PRICE	TOTAL PRICE
	Award Group #1				
	Manufacturer: spec Scholarcraft 120		As Specified	Virco 20	
PSF1A	1,246   13 1/2" - 14" stack chair	16.73	20,845.58		19,001.50
PSF1B	1,163   15 1/2" - 16" stack chair	18.59	21,620.17	16.88	19,631.44
PSF1C	2,820   17 1/2" - 18" stack chair	19.62	55,328.40		53,128.80
PSF1D	164 11 1/2" - 12" stack chair	16.26	2,666.64	15.25	2,501.00
	Manufacturer: spec Scholarcraft SC2200-FBBK	Scholarcraft	As Specified	Virco	785X
PSF2	1,353 Student desk w/bookbox	33.37	45,149.61	33.46	45,271.38
	Manufacturer: spec Scholarcraft 2700FB	Scholarcraft	As Specified	Virco 727LBX	
PSF2A	1,705 Student desk w/out bookbox	42.21	71,968.05	32.75	55,838.75
	Manufacturer: spec Scholarcraft 120	Scholarcraft	As Specified	Virco 9050P	
PSF4A	748 Teacher chair with casters	45.25	33,847.00	33.30	24,908.40
	Manufacturer: spec Scholarcraft 9400 series		ivity Tables		00 Series
PSF5A	538 Table 30" x 60"	85.26	45,869.88		35,777.00
PSF5B	40 Table 36" x 60"	89.47	3,578.80		3,000.00
PSF5C	47 Table 36" x 72"	97.89	4,600.83	80.75	3,795.25
PSF5D	80 Table 24" x 48"	65.26	5,220.80		4,000.00
PSF5F	16 Table 48" round	93.68	1,498.88		1,104.00
PSF5H	114 Table 48" x 72" kidney	121.05	13,799.80*	98.96	11,281.44
	TOTAL FOR AWARD GROUP #1		325,984.60*		279,238.96
		*Vendor math err			217,233.70
			otal incorrect		
		an or none u	nai meorieet		

DATE O	F OPENI	NG: January 29, 2009 @ 1:30 pm	V	Venger
TITLE:	Furniture	e 3 Schools COES, ODES, & FHS	555 I	Park Drive
BID NUM	<b>IBER 11-</b>	001-AF	Owatonn	a, MN 55060
		**Board Meeting March 2, 2010**		
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE
		Award Group #1		
		Manufacturer: spec Scholarcraft 120		
PSF1A		13 1/2" - 14" stack chair		No Bid
PSF1B		15 1/2" - 16" stack chair		No Bid
PSF1C	2,820	17 1/2" - 18" stack chair		No Bid
PSF1D	164	11 1/2" - 12" stack chair		No Bid
		Manufacturer: spec Scholarcraft SC2200-FBBK		
PSF2	1,353	Student desk w/bookbox		No Bid
		Manufacturer: spec Scholarcraft 2700FB		
PSF2A	1,705	Student desk w/out bookbox		No Bid
		Manufacturer: spec Scholarcraft 120		
PSF4A	748	Teacher chair with casters		No Bid
		Manufacturer: spec Scholarcraft 9400 series		
PSF5A		Table 30" x 60"		No Bid
PSF5B		Table 36" x 60"		No Bid
PSF5C		Table 36" x 72"		No Bid
PSF5D		Table 24" x 48"		No Bid
PSF5F		Table 48" round		No Bid
PSF5H	114	Table 48" x 72" kidney		No Bid
		TOTAL FOR AWARD GROUP #1		No Bid

DATE OI	F OPENII	NG: January 29, 2009 @ 1:30 pm	C	BA	Ernie Morr	is Enterprises	
TITLE:	Furniture	e 3 Schools COES, ODES, & FHS	36 Weath	nerby Drive	PO Box 818		
BID NUM		· · · · · · · · · · · · · · · · · · ·		s, SC 28615	Bushnell,	FL 33513	
		**Board Meeting March 2, 2010**					
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
		Award Group #2					
		Manufacturer: spec Scholarcraft 4000 series					
PSF5J		Table 36" round pedestal base		No Bid		No Bid	
PSF5M	4	Table 48" round pedestal base		No Bid		No Bid	
		TOTAL FOR AWARD GROUP #2		No Bid		No Bid	
		A					
		Award Group #3 Manufacturer: spec Hon 310/894L			II A.	C:C1	
PSF8A	214	File cabinet, vertical 4 drawer, letter		No Bid	123.98	Specified 38,929.72	
PSF8B		File cabinet, vertical 4 drawer, letter  File cabinet, vertical 4 drawer, legal		No Bid	123.98	568.88	
PSF8C		File cabinet, vertical 2 drawer, letter		No Bid	90.92	2,909.44	
PSF8E		File cabinet, lateral 4 drawer 42" wide w/lock		No Bid	388.74	8,941.02	
PSFOE	23	File Cabillet, lateral 4 drawer 42 wide w/lock		NO DIU	300.74	8,941.02	
		TOTAL FOR AWARD GROUP #3		No Bid		51,349.06	
		Award Group #4					
		Manufacturer: spec Hon 7901/7991/7805					
PSF9A	10	Data posture chair with arms		No Bid	91.95	919.50	
101711	10	Alt. Hon 5073/5795		1,0 210	90.53	905.30	
PSF9B	58	Data posture chair without arms		No Bid	74.20	4,303.60	
		Alt: Hon 5073			69.23	4,015.34	
		Manufacturer: spec HON 2071/2072/4605				,	
PSF14A	3	Executive swivel chair		No Bid	140.23	420.69	
PSF14B	99	Guest chair		No Bid	133.13	13,179.87	
PSF14C	58	Mid-back chair		No Bid	86.62	5,023.96	
				No Bid			
		TOTAL FOR AWARD GROUP #4		No Bid		23,847.62	

DATE OF	OPENI	NG: January 29, 2009 @ 1:30 pm	Heritage Pr	oduct Resources	Hertz Furniture		
TITLE: F	urniture	3 Schools COES, ODES, & FHS	207 NW 1st Ave.		95 Mckee Dr.		
BID NUM		·	Mulberr	y, FL 33860	Mahwah	ah, NJ 07430	
		**Board Meeting March 2, 2010**		<b>2</b> ·		•	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
		Award Group #2		-			
		Manufacturer: spec Scholarcraft 4000 series					
PSF5J		Table 36" round pedestal base		No Bid		No Bid	
PSF5M	4	Table 48" round pedestal base		No Bid		No Bid	
		TOTAL FOR AWARD GROUP #2		No Bid		No Bid	
		Award Group #3					
		Manufacturer: spec Hon 310/894L					
PSF8A	314	File cabinet, vertical 4 drawer, letter		No Bid		No Bid	
PSF8B		File cabinet, vertical 4 drawer, legal		No Bid		No Bid	
PSF8C		File cabinet, vertical 2 drawer, letter		No Bid		No Bid	
PSF8E		File cabinet, lateral 4 drawer 42" wide w/lock		No Bid		No Bid	
		TOTAL FOR AWARD GROUP #3		No Bid		No Bid	
		Award Group #4					
		Manufacturer: spec Hon 7901/7991/7805			OFM 10	)5-AA/105	
PSF9A	10	Data posture chair with arms		No Bid			
	10	Alt. Hon 5073/5795		1,0 Dia	111.70	1,117.31	
PSF9B	58	Data posture chair without arms		No Bid	87.83	5,093.99*	
		Alt: Hon 5073					
		Manufacturer: spec HON 2071/2072/4605			OFM 452/404/453		
PSF14A	3	Executive swivel chair		No Bid	171.67	515.00*	
PSF14B	99	Guest chair		No Bid	84.23	8,339.19*	
PSF14C	58	Mid-back chair		No Bid	156.10	9,053.58*	
		TOTAL FOR AWARD GROUP #4		No Bid		24,119.57*	
						rrors, extended and d price incorrect	

DATE O	F OPENI	NG: January 29, 2009 @ 1:30 pm	Holmes & Brakel International		Longs	Longs Electronics	
TITLE:	Furniture	3 Schools COES, ODES, & FHS	3901 Coconut	Palm Dr, Suite 102	2630 5th	Avenue South	
BID NUM	<b>IBER 11-</b>	001-AF	Tampa	a, FL 33619	Irondal	e, AL 35210	
		**Board Meeting March 2, 2010**					
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
		Award Group #2	Global GCAR	36TM/GCAR 48TM			
		Manufacturer: spec Scholarcraft 4000 series				1	
PSF5J	12	Table 36" round pedestal base	169.97	2,039.64		No Bid	
PSF5M	4	Table 48" round pedestal base	238.05	952.20		No Bid	
		TOTAL FOR AWARD GROUP #2		3,431.84*		No Bid	
			*Vendor math	error, all or none bid			
			price	incorrect			
		Award Group #3					
		Manufacturer: spec Hon 310/894L	Global V	arious Models			
PSF8A	314	File cabinet, vertical 4 drawer, letter	167.54			No Bid	
PSF8B		File cabinet, vertical 4 drawer, legal	194.18			No Bid	
PSF8C		File cabinet, vertical 2 drawer, letter	123.53			No Bid	
PSF8E		File cabinet, lateral 4 drawer 42" wide w/lock	464.65	-		No Bid	
		,					
		TOTAL FOR AWARD GROUP #3		74,551.69*		No Bid	
			*Vendor math	error, all or none bid			
				incorrect			
		Award Group #4	F				
		Manufacturer: spec Hon 7901/7991/7805	(	Global			
PSF9A	10	Data posture chair with arms	118.29			No Bid	
ISFJA	10	Alt. Hon 5073/5795	110.25	1,162.90		No Diu	
PSF9B	58	Data posture chair without arms	90.96	5,275.68		No Bid	
ISIJB	30	Alt: Hon 5073	70.70	3,273.00		110 Blu	
		Manufacturer: spec HON 2071/2072/4605					
PSF14A	3	Executive swivel chair	157.86	473.58		No Bid	
PSF14B		Guest chair	60.37			No Bid	
PSF14C		Mid-back chair	150.52			No Bid	
			- 310	-,			
		TOTAL FOR AWARD GROUP #4		22,930.45*		No Bid	
			*Vendor math	error, all or none bid			
			price	incorrect			
<u> </u>			•		1		

DATE OF	F OPENI	NG: January 29, 2009 @ 1:30 pm	Melhart	Music Center	Office Fu	rniture Center
TITLE: 1	Furniture	e 3 Schools COES, ODES, & FHS	3325 N	. 1oth Street	2117 West 1	Lemmedu Blvd.
BID NUM			McAller	n, TX 78501	Tampa, FL 33606	
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #2				
		Manufacturer: spec Scholarcraft 4000 series				& 1123/RSP base
PSF5J		Table 36" round pedestal base		No Bid		·
PSF5M	4	Table 48" round pedestal base		No Bid	177.00	708.00
		TOTAL FOR AWARD GROUP #2		No Bid		2,484.00
		Award Group #3				
		Manufacturer: spec Hon 310/894L		1	Hon A	s Specified
PSF8A	314	File cabinet, vertical 4 drawer, letter		No Bid		
PSF8B	4	File cabinet, vertical 4 drawer, legal		No Bid	189.00	756.00
PSF8C		File cabinet, vertical 2 drawer, letter		No Bid	120.00	3,840.00
PSF8E	23	File cabinet, lateral 4 drawer 42" wide w/lock		No Bid	516.00	11,868.00
		TOTAL FOR AWARD GROUP #3		No Bid		67,960.00
		Award Group #4			**	
DOES A	10	Manufacturer: spec Hon 7901/7991/7805		N. D. I		s Specified
PSF9A	10	Data posture chair with arms		No Bid	100.00	1,000.00
DCEOD	70	Alt. Hon 5073/5795		N. D. I	01.00	4.600.00
PSF9B	58	Data posture chair without arms Alt: Hon 5073		No Bid	81.00	4,698.00
		Manufacturer: spec HON 2071/2072/4605				
PSF14A	3	Executive swivel chair		No Bid	153.00	459.00
PSF14B		Guest chair		No Bid		
PSF14C		Mid-back chair		No Bid	146.00	,
		TOTAL FOR AWARD GROUP #4		No Bid		24,030.00
		1	1		l	l

DATE O	ATE OF OPENING: January 29, 2009 @ 1:30 pm		Pride Enterprises		Schoolhouse Products Inc.	
TITLE:	Furniture	3 Schools COES, ODES, & FHS	12425 28th St.	North, Suite 300	13517 Prestige	Place, Suite 101
	MBER 11-	<u> </u>	St. Petersburg, FL 33716		Tampa, FL 33635	
		**Board Meeting March 2, 2010**		<u> </u>		
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #2				
		Manufacturer: spec Scholarcraft 4000 series	Pride Perfor	mance Tables	Midwest 1	10436/48D
PSF5J	12	Table 36" round pedestal base	212.08	2,544.96	239.08	2,868.96
PSF5M	4	Table 48" round pedestal base	213.40	853.60	308.09	1,232.36
		TOTAL FOR AWARD GROUP #2		3,398.56		4,101.32
		Award Group #3				
		Manufacturer: spec Hon 310/894L				
PSF8A		File cabinet, vertical 4 drawer, letter		No Bid		No Bid
PSF8B		File cabinet, vertical 4 drawer, legal		No Bid		No Bid
PSF8C		File cabinet, vertical 2 drawer, letter		No Bid		No Bid
PSF8E	23	File cabinet, lateral 4 drawer 42" wide w/lock		No Bid		No Bid
		TOTAL FOR AWARD GROUP #3		No Bid		No Bid
		Award Group #4				
		Manufacturer: spec Hon 7901/7991/7805		Clarion		
PSF9A	10	Data posture chair with arms	230.16	2,301.60		No Bid
		Alt. Hon 5073/5795				
PSF9B	58	Data posture chair without arms	197.40	11,449.20		No Bid
		Alt: Hon 5073				
		Manufacturer: spec HON 2071/2072/4605		n, Performance		
PSF14A		Executive swivel chair	327.18			No Bid
PSF14B		Guest chair	108.78			No Bid
PSF14C	58	Mid-back chair	287.28	16,662.24		No Bid
		TOTAL FOR AWARD GROUP #4		42,163.80		No Bid
	1		1			II.

DATE OF	F OPENING: January 29, 2009 @ 1:30 pm	School S	Specialty	Vi	rco
TITLE: 1	Furniture 3 Schools COES, ODES, & FHS	100 Parago	on Parkway	Hwy. 65 South	
	IBER 11-001-AF	Mansfield,		Conway, AR 72032	
212 1,01	**Board Meeting March 2, 2010**	,		3,	
ITEM#	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Award Group #2				
	Manufacturer: spec Scholarcraft 4000 series	Amtab Hospitality	PT36R/PT48R	Virco - Café Tops	w/ Pedestal Bases
PSF5J	12 Table 36" round pedestal base	104.00	1,248.00	116.27	1,395.24
PSF5M	4 Table 48" round pedestal base	172.63	698.52*	138.15	552.60
	TOTAL FOR AWARD GROUP #2		1,946.52*		1,947.84
		*Vendor math err	ors, extended and		
		all or none to	otal incorrect		
	Award Group #3				
	Manufacturer: spec Hon 310/894L	Glo	hal	Virgo Vortical	& Lateral Files
PSF8A	314 File cabinet, vertical 4 drawer, letter	148.60		135.20	
PSF8B	4 File cabinet, vertical 4 drawer, legal	169.65	,	155.20	,
PSF8C	32 File cabinet, vertical 2 drawer, letter	118.82	3,802.24	97.24	
PSF8E	23 File cabinet, lateral 4 drawer 42" wide w/lock	467.74	10,758.02	424.45	9,762.35
TOTOL	25 The eachiet, lateral Faraver 12 wide wrock	107.71	10,730.02	121118	2,702.33
	TOTAL FOR AWARD GROUP #3		61,899.26		55,947.63
	Award Group #4				
	Manufacturer: spec Hon 7901/7991/7805	Hon As S	Specified		
PSF9A	10 Data posture chair with arms	106.86	1,068.60		No Bid
	Alt. Hon 5073/5795				
PSF9B	58 Data posture chair without arms	86.33	5,007.14		No Bid
	Alt: Hon 5073				
	Manufacturer: spec HON 2071/2072/4605				
PSF14A	3 Executive swivel chair	163.21	489.63		No Bid
PSF14B	99 Guest chair	100.69	9,968.31		No Bid
PSF14C	58 Mid-back chair	155.00	8,990.00		No Bid
	TOTAL FOR AWARD GROUP #4		25,523.68		No Bid

DATE OF	OPENI	NG: January 29, 2009 @ 1:30 pm	W	Venger
TITLE: F	urniture	e 3 Schools COES, ODES, & FHS	555 F	Park Drive
BID NUM			Owatonna	a, MN 55060
		**Board Meeting March 2, 2010**		
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE
		Award Group #2		
		Manufacturer: spec Scholarcraft 4000 series		
PSF5J	12	Table 36" round pedestal base		No Bid
PSF5M	4	Table 48" round pedestal base		No Bid
		TOTAL FOR AWARD GROUP #2		No Bid
		Award Group #3		
		Manufacturer: spec Hon 310/894L		
PSF8A	314	File cabinet, vertical 4 drawer, letter		No Bid
PSF8B		File cabinet, vertical 4 drawer, legal		No Bid
PSF8C	32	File cabinet, vertical 2 drawer, letter		No Bid
PSF8E	23	File cabinet, lateral 4 drawer 42" wide w/lock		No Bid
		TOTAL FOR AWARD GROUP #3		No Bid
		Award Group #4		
DCEOA	10	Manufacturer: spec Hon 7901/7991/7805		N. D' 1
PSF9A	10	Data posture chair with arms Alt. Hon 5073/5795		No Bid
PSF9B	50	Data posture chair without arms		No Bid
I SE JD	36	Alt: Hon 5073		INU DIU
		Manufacturer: spec HON 2071/2072/4605		
PSF14A	3	Executive swivel chair		No Bid
PSF14B		Guest chair		No Bid
PSF14C		Mid-back chair		No Bid
		TOTAL FOR AWARD GROUP #4		No Bid
		TOTAL FOR AWARD GROUP #4		NO BIG

DATE OF OPENING: January 29, 2009 @ 1:30 pm		CBA		Ernie Morris Enterprises		
TITLE: I	Furniture	3 Schools COES, ODES, & FHS	36 Weatl	nerby Drive	PO E	30x 818
BID NUM	IBER 11-	001-AF	Greenville	e, SC 28615	Bushnell,	FL 33513
**Board Meeting March 2, 2010**						
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE U	JNIT PRICE	TOTAL PRICE
		Award Group #5				
		Manufacturer: spec ABCO CFL series			ABCO A	s Specified
PSF17		Computer table 30" x 60"		No Bid	277.57	,
PSF17A	28	Computer table 24" x 60"		No Bid	252.16	7,060.48
		TOTAL FOR AWARD GROUP #5		No Bid		48,418.41
		Award Group #6				
		Manufacturer: spec Penco Open Clipper Series				
PSF11C	176	Metal shelf 18" x 36" x 87"		No Bid	0.00	No Bid
PSF11F	36	Metal shelf 18" x 48" x 87"		No Bid	0.00	No Bid
PSF11G	253	Metal shelf 24" x 48" x 87"		No Bid	0.00	No Bid
		TOTAL FOR AWARD GROUP #6		No Bid		No Bid
		Award Group #7				
DOD10		Manufacturer: spec Lloyd / Barrington 800P Deluxe		N 7011	0.00	V 5:1
PSF12	8	First aid lounger		No Bid	0.00	No Bid

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Heritage Pro	oduct Resources	Hertz Furniture		
TITLE: H		3 Schools COES, ODES, & FHS	207 N	W 1st Ave.	95 Mc	ckee Dr.
BID NUM	BER 11-	001-AF	Mulberry, FL 33860		Mahwah	, NJ 07430
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #5				
		Manufacturer: spec ABCO CFL series				
PSF17		Computer table 30" x 60"		No Bid		No Bid
PSF17A	28	Computer table 24" x 60"		No Bid		No Bid
		TOTAL FOR AWARD GROUP #5		No Bid		No Bid
		Award Group #6				g ig i
222112		Manufacturer: spec Penco Open Clipper Series				s Specified
PSF11C		Metal shelf 18" x 36" x 87"		No Bid		,
PSF11F		Metal shelf 18" x 48" x 87"		No Bid		
PSF11G	253	Metal shelf 24" x 48" x 87"		No Bid	157.49	39,843.88*
		TOTAL FOR AWARD GROUP #6		No Bid		64,980.25*
						rors, extended and l price incorrect
		Award Group #7				
		Manufacturer: spec Lloyd / Barrington 800P Deluxe				
PSF12	8	First aid lounger		No Bid		No Bid

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Holmes & Brakel International		Longs Electronics		
TITLE:	Furniture	3 Schools COES, ODES, & FHS	3901 Coconut l	Palm Dr, Suite 102	2630 5th	Avenue South
<b>BID NUM</b>	<b>MBER 11-</b>	001-AF	Tampa	, FL 33619	Irondal	e, AL 35210
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #5				
		Manufacturer: spec ABCO CFL series		knion		
PSF17		Computer table 30" x 60"	355.96	,		No Bid
PSF17A	28	Computer table 24" x 60"	322.00	9,016.00		No Bid
		TOTAL FOR AWARD GROUP #5		66,479.04*		No Bid
		10112210111111222001110	*Vendor math e	rror, all or none bid		110 210
				incorrect		
		Award Group #6	price	meorrect		
		Manufacturer: spec Penco Open Clipper Series				
PSF11C	176	Metal shelf 18" x 36" x 87"		No Bid		No Bid
PSF11F	36	Metal shelf 18" x 48" x 87"		No Bid		No Bid
PSF11G	253	Metal shelf 24" x 48" x 87"		No Bid		No Bid
		TOTAL FOR AWARD GROUP #6		No Bid		No Bid
		Award Group #7				
		Manufacturer: spec Lloyd / Barrington 800P Deluxe	Wins	co 18850		
PSF12	8	First aid lounger	265.00			No Bid
1 01 12	0	i not the founder		-		140 Dlu
			*Vendor math e	rror, all or none bid		
			price	incorrect		

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Melhart Music Center		Office Furniture Center		
TITLE: I	Furniture	3 Schools COES, ODES, & FHS	3325 N. 1oth Street		2117 West Lemmedu Blvd.	
<b>BID NUM</b>	BID NUMBER 11-001-AF		McAllen	n, TX 78501	Tampa,	FL 33606
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #5				
		Manufacturer: spec ABCO CFL series				
PSF17		Computer table 30" x 60"		No Bid		No Bid
PSF17A	28	Computer table 24" x 60"		No Bid		No Bid
		TOTAL FOR AWARD GROUP #5		No Bid		No Bid
		Award Group #6				
		Manufacturer: spec Penco Open Clipper Series				
PSF11C		Metal shelf 18" x 36" x 87"		No Bid		No Bid
PSF11F		Metal shelf 18" x 48" x 87"		No Bid		No Bid
PSF11G	253	Metal shelf 24" x 48" x 87"		No Bid		No Bid
		TOTAL FOR AWARD GROUP #6		No Bid		No Bid
		Award Group #7				
		Manufacturer: spec Lloyd / Barrington 800P Deluxe				
PSF12	8	First aid lounger		No Bid		No Bid

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Pride Enterprises		Schoolhouse Products Inc.		
TITLE: I	Furniture	e 3 Schools COES, ODES, & FHS	12425 28th St. 1	North, Suite 300	13517 Prestige	Place, Suite 101
<b>BID NUM</b>	IBER 11-	001-AF	St. Petersbur	g, FL 33716	Tampa, l	FL 33635
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #5				
		Manufacturer: spec ABCO CFL series	Pride - E	Efficiency	Bre	tford
PSF17		Computer table 30" x 60"	178.92	26,659.08	239.00	/
PSF17A	28	Computer table 24" x 60"	155.40	4,351.20	231.00	6,468.00
		TOTAL FOR AWARD GROUP #5		31,010.28		42,079.00
		Award Group #6				
		Manufacturer: spec Penco Open Clipper Series	Pr	ide		
PSF11C	176	Metal shelf 18" x 36" x 87"	133.13	23,430.88		No Bid
PSF11F	36	Metal shelf 18" x 48" x 87"	161.13	5,800.68		No Bid
PSF11G	253	Metal shelf 24" x 48" x 87"	191.13	48,355.89		No Bid
		TOTAL FOR AWARD GROUP #6		77,587.45		No Bid
		Award Group #7				
		Manufacturer: spec Lloyd / Barrington 800P Deluxe				
PSF12	8	First aid lounger		No Bid		No Bid

DATE OF OPENING: January 29, 2009 @ 1:30 pm		School S	School Specialty		Virco	
TITLE: F	Furniture 3 Schools COES, ODES, & FHS	100 Parago	on Parkway	Hwy. 65 South		
<b>BID NUM</b>	IBER 11-001-AF	Mansfield,	OH 44903	Conway, A	AR 72032	
	**Board Meeting March 2, 2010**			UNIT PRICE		
ITEM#	QTY. DESCRIPTION	UNIT PRICE	UNIT PRICE TOTAL PRICE		TOTAL PRICE	
	Award Group #5					
	Manufacturer: spec ABCO CFL series		01386/01377		echnology Tables	
PSF17	149 Computer table 30" x 60"	218.29		190.58	/	
PSF17A	28 Computer table 24" x 60"	197.59	5,532.52	173.25	4,851.00	
	TOTAL FOR AWARD GROU	U <b>P</b> #5	38,057.73		33,247.42	
	Award Group #6					
	Manufacturer: spec Penco Open Clipper Series	Hallowell 5510-18	3/5710-18/5710-24			
PSF11C	176 Metal shelf 18" x 36" x 87"	95.53	16,813.28		No Bid	
PSF11F	36 Metal shelf 18" x 48" x 87"	117.27	4,221.72		No Bid	
PSF11G	253 Metal shelf 24" x 48" x 87"	131.58	33,289.74		No Bid	
	TOTAL FOR AWARD GROU	UP #6	54,324.74		No Bid	
	Award Group #7					
20214	Manufacturer: spec Lloyd / Barrington 800P Deluxe		on As Specified			
PSF12	8 First aid lounger	343.68	2,749.44		No Bid	

DATE OF	OPENI	NG: January 29, 2009 @ 1:30 pm	V	Venger	
TITLE: F	urniture	3 Schools COES, ODES, & FHS	555 I	Park Drive	
BID NUM	BER 11-	001-AF	Owatonna, MN 55060		
		**Board Meeting March 2, 2010**			
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	
		Award Group #5			
		Manufacturer: spec ABCO CFL series			
PSF17		Computer table 30" x 60"		No Bid	
PSF17A	28	Computer table 24" x 60"		No Bid	
		TOTAL FOR AWARD GROUP #5		No Bid	
		Award Group #6			
		Manufacturer: spec Penco Open Clipper Series			
PSF11C	176	Metal shelf 18" x 36" x 87"		No Bid	
PSF11F	36	Metal shelf 18" x 48" x 87"		No Bid	
PSF11G		Metal shelf 24" x 48" x 87"		No Bid	
		TOTAL FOR AWARD GROUP #6		No Bid	
		Award Group #7			
		Manufacturer: spec Lloyd / Barrington 800P Deluxe			
PSF12	8	First aid lounger		No Bid	

DATE OF	OPENI	NG: January 29, 2009 @ 1:30 pm	(	CBA	Ernie Morr	is Enterprises
TITLE: F	Turniture	3 Schools COES, ODES, & FHS	36 Weat	herby Drive	PO E	Sox 818
BID NUM	BER 11-	001-AF	Greenville, SC 28615		Bushnell, FL 33513	
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #8				
		Manufacturer: spec Hon 10600/80192/L series				Specified
PSF13A		Wood lam desk 72" x 36"		No Bid	397.84	1,193.52
PSF13B		Wood lam DP desk 66" x 60"		No Bid	372.14	744.28
PSF13C	9	Wood lam secretarial desk left return		No Bid	535.04	4,815.36
PSF13D		Wood lam secretarial desk right return		No Bid	535.04	6,420.48
PSF13E		Wood lam storage credenza		No Bid	424.99	2,974.93
PSF13F		Wood lam knee space credenza		No Bid	354.76	3,192.84
PSF13I		Wood lam end table		No Bid	108.24	1,298.88
PSF13K		Wood lam lateral file cabinet		No Bid	283.08	3,113.88
PSF13N		Wood lam bookcase 2 shelf		No Bid	135.75	814.50
PSF13O		Wood lam bookcase 5 shelf		No Bid	224.44	10,997.56
PSF15A		Conference table 4' x 8'		No Bid	417.02	1,668.08
PSF15B	1	Conference table 4' x 12'		No Bid	501.73	501.73
		TOTAL FOR AWARD GROUP #8		No Bid		37,736.04
		Award Group #9			G1 11' A	g is 1
DCE1 (D	227	Manufacturer: Shellie Radison Series		N. D. 1		s Specified
PSF16B		Single pedestal desk 30" x 48"		No Bid	245.50	58,183.50
PSF16C PSF16D		Secretarial desk right return Secretarial desk left return		No Bid No Bid	441.00	3,528.00 2,205.00
PSF16D PSF16E		Bookcase 60" x 36" x 12"			441.00	
PSFIGE	278	Bookcase 60° x 36° x 12°		No Bid	155.50	43,229.00
		TOTAL FOR AWARD GROUP #9		No Bid		107,145.50
		Award Group #10				
		Manufacturer: spec Natl. Public Seating 8210 Melody				
PSF22	140	Student music posture chair		No Bid		No Bid

DATE OF	OPENING: January 29, 2009 @ 1:30 pm	Heritage Pro	oduct Resources H	ertz Furniture	
TITLE: F	urniture 3 Schools COES, ODES, & FHS	207 N	W 1st Ave.	95 Mckee Dr.	
BID NUM	BER 11-001-AF	Mulberry, FL 33860 M		nwah, NJ 07430	
	**Board Meeting March 2, 2010**				
ITEM#		UNIT PRICE	TOTAL PRICE UNIT PRICE	CE TOTAL PRICE	
	Award Group #8	_			
	Manufacturer: spec Hon 10600/80192/L series				
PSF13A	3 Wood lam desk 72" x 36"		No Bid	No Bid	
PSF13B	2 Wood lam DP desk 66" x 60"		No Bid	No Bid	
PSF13C	9 Wood lam secretarial desk left return		No Bid	No Bid	
PSF13D	12 Wood lam secretarial desk right return		No Bid	No Bid	
PSF13E	7 Wood lam storage credenza		No Bid	No Bid	
PSF13F	9 Wood lam knee space credenza		No Bid	No Bid	
PSF13I	12 Wood lam end table		No Bid	No Bid	
PSF13K	11 Wood lam lateral file cabinet		No Bid	No Bid	
PSF13N	6 Wood lam bookcase 2 shelf		No Bid	No Bid	
PSF13O	49 Wood lam bookcase 5 shelf		No Bid	No Bid	
PSF15A	4 Conference table 4' x 8'		No Bid	No Bid	
PSF15B	1 Conference table 4' x 12'		No Bid	No Bid	
	TOTAL FOR AWARD GROUP #8		No Bid	No Bid	
	Award Group #9				
	Manufacturer: Shellie Radison Series				
PSF16B	237 Single pedestal desk 30" x 48"		No Bid	No Bid	
PSF16C	8 Secretarial desk right return		No Bid	No Bid	
PSF16D	5 Secretarial desk left return		No Bid	No Bid	
PSF16E	278 Bookcase 60" x 36" x 12"		No Bid	No Bid	
	TOTAL FOR AWARD GROUP #9		No Bid	No Bid	
	Award Group #10				
	Manufacturer: spec Natl. Public Seating 8210 Melody			S As Specified	
PSF22	140 Student music posture chair			5.94 6,432.13*	
			*Vendor i	nath error, all or none	

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Holmes & Brakel International		Longs Electronics	
TITLE: F	Furniture 3 Schools COES, ODES, & FHS	3901 Coconut	Palm Dr, Suite 102	2630 5th Avenue South	
BID NUM	BER 11-001-AF	Tampa, FL 33619		Irondale, AL 35210	
	**Board Meeting March 2, 2010**				
ITEM#	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Award Group #8				
	Manufacturer: spec Hon 10600/80192/L series		lobal		
PSF13A	3 Wood lam desk 72" x 36"	411.36			No Bid
PSF13B	2 Wood lam DP desk 66" x 60"	383.96			No Bid
PSF13C	9 Wood lam secretarial desk left return	577.36	5,196.24		No Bid
PSF13D	12 Wood lam secretarial desk right return	577.36			No Bid
PSF13E	7 Wood lam storage credenza	433.92			No Bid
PSF13F	9 Wood lam knee space credenza	378.73	3,408.57		No Bid
PSF13I	12 Wood lam end table	167.20	2,006.40		No Bid
PSF13K	11 Wood lam lateral file cabinet	315.47	3,470.17		No Bid
PSF13N	6 Wood lam bookcase 2 shelf	186.14	1,116.84		No Bid
PSF13O	49 Wood lam bookcase 5 shelf	242.55	11,884.95		No Bid
PSF15A	4 Conference table 4' x 8'	362.21	1,448.84		No Bid
PSF15B	1 Conference table 4' x 12'	492.75	492.75		No Bid
	TOTAL FOR AWARD GROUP #8		44,307.52*		No Bid
		*Vendor math 6	error, all or none bid		
		price	incorrect		
	Award Group #9				
	Manufacturer: Shellie Radison Series				
PSF16B	237 Single pedestal desk 30" x 48"	0.00			No Bid
PSF16C	8 Secretarial desk right return	0.00			No Bid
PSF16D	5 Secretarial desk left return	0.00			No Bid
PSF16E	278 Bookcase 60" x 36" x 12"	0.00	No Bid		No Bid
	TOTAL FOR AWARD GROUP #9		No Bid		No Bid
	Award Group #10				
	Manufacturer: spec Natl. Public Seating 8210 Melody		bal 7162		
PSF22	140 Student music posture chair	50.47	7,415.80*		No Bid
		*Vendor math	error, all or none bid		

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Melhart Music Center		Office Furniture Center		
TITLE: I	Furniture	3 Schools COES, ODES, & FHS	3325 N.	. 1oth Street	2117 West Lemmedu Blvd.	
BID NUM	IBER 11-	001-AF	McAllen	, TX 78501	Tampa,	FL 33606
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Award Group #8				
		Manufacturer: spec Hon 10600/80192/L series				s Specified
PSF13A		Wood lam desk 72" x 36"		No Bid	428.00	1,284.00
PSF13B		Wood lam DP desk 66" x 60"		No Bid	400.00	800.00
PSF13C		Wood lam secretarial desk left return		No Bid	575.00	5,175.00
PSF13D		Wood lam secretarial desk right return		No Bid	575.00	6,900.00
PSF13E		Wood lam storage credenza		No Bid	457.00	3,199.00
PSF13F		Wood lam knee space credenza		No Bid	381.00	3,429.00
PSF13I		Wood lam end table		No Bid	116.00	1,392.00
PSF13K		Wood lam lateral file cabinet		No Bid	304.00	3,344.00
PSF13N	6	Wood lam bookcase 2 shelf		No Bid	146.00	876.00
PSF13O		Wood lam bookcase 5 shelf		No Bid	241.00	11,809.00
PSF15A		Conference table 4' x 8'		No Bid	448.00	1,792.00
PSF15B	1	Conference table 4' x 12'		No Bid	539.00	539.00
		TOTAL FOR AWARD GROUP #8		No Bid		40,539.00
		Award Group #9				
		Manufacturer: Shellie Radison Series			Hon 10	0600 series
PSF16B	237	Single pedestal desk 30" x 48"		No Bid	352.00	83,424.00
PSF16C		Secretarial desk right return		No Bid	628.00	5,024.00
PSF16D	5	Secretarial desk left return		No Bid	628.00	3,140.00
PSF16E	278	Bookcase 60" x 36" x 12"		No Bid	216.00	60,048.00
		TOTAL FOR AWARD GROUP #9		No Bid		151,636.00
		Award Group #10				
		Manufacturer: spec Natl. Public Seating 8210 Melody		rt SRBOC		
PSF22	140	Student music posture chair	69.00	9,660.00		No Bid

BID NUMB	urniture 3 Schools COES, ODES, & FHS	12425 28th St			
	DED 11 001 AE	12425 28th St. North, Suite 300		13517 Prestige Place, Suite 101	
ITEM#	BID NUMBER 11-001-AF		g, FL 33716	Tampa, I	FL 33635
ITEM#	**Board Meeting March 2, 2010**				
	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	Award Group #8				
	Manufacturer: spec Hon 10600/80192/L series	Pride	- Alpha		
PSF13A	3 Wood lam desk 72" x 36"	563.64	,		No Bid
PSF13B	2 Wood lam DP desk 66" x 60"	540.12	1,080.24		No Bid
PSF13C	9 Wood lam secretarial desk left return	665.70	5,991.30		No Bid
PSF13D	12 Wood lam secretarial desk right return	665.70	7,988.40		No Bid
PSF13E	7 Wood lam storage credenza	542.60	3,798.20		No Bid
PSF13F	9 Wood lam knee space credenza	433.40	3,900.60		No Bid
PSF13I	12 Wood lam end table	98.70	1,184.40		No Bid
PSF13K	11 Wood lam lateral file cabinet	241.08	2,651.88		No Bid
PSF13N	6 Wood lam bookcase 2 shelf	177.24	1,063.44		No Bid
PSF13O	49 Wood lam bookcase 5 shelf	220.24	10,791.76		No Bid
PSF15A	4 Conference table 4' x 8'	344.52	1,378.08		No Bid
PSF15B	1 Conference table 4' x 12'	654.78	654.78		No Bid
	TOTAL FOR AWARD GROUP #8		42,174.00		No Bid
	Award Group #9				
	Manufacturer: Shellie Radison Series		Omega		T
PSF16B	237 Single pedestal desk 30" x 48"	283.08	67,089.96		No Bid
PSF16C	8 Secretarial desk right return	297.44			No Bid
PSF16D	5 Secretarial desk left return	297.44	,		No Bid
PSF16E	278 Bookcase 60" x 36" x 12"	215.46	59,897.88		No Bid
	TOTAL FOR AWARD GROUP #9		130,854.56		No Bid
	Award Group #10				-
	Manufacturer: spec Natl. Public Seating 8210 Melody	Pride - Banquet Chair			Specified
PSF22	140 Student music posture chair	55.44	7,761.60	50.23	7,032.20

DATE OF OPENING: January 29, 2009 @ 1:30 pm		School Specialty		Virco		
TITLE: I	Furniture	e 3 Schools COES, ODES, & FHS	100 Paragon Parkway		Hwy. 65 South	
BID NUM	IBER 11-	001-AF	Mansfield,	OH 44903	Conway	, AR 72032
		**Board Meeting March 2, 2010**				
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE UNIT	PRICE	TOTAL PRICE
		Award Group #8				
		Manufacturer: spec Hon 10600/80192/L series		Specified		
PSF13A		Wood lam desk 72" x 36"	454.33	1,362.99		No Bid
PSF13B		Wood lam DP desk 66" x 60"	425.18	850.36		No Bid
PSF13C	9	Wood lam secretarial desk left return	611.50	5,503.50		No Bid
PSF13D	12	Wood lam secretarial desk right return	611.50	7,338.00		No Bid
PSF13E	7	Wood lam storage credenza	484.06	3,388.42		No Bid
PSF13F	9	Wood lam knee space credenza	404.42	3,639.78		No Bid
PSF13I	12	Wood lam end table	123.80	1,485.60		No Bid
PSF13K	11	Wood lam lateral file cabinet	322.61	3,548.71		No Bid
PSF13N	6	Wood lam bookcase 2 shelf	155.00	930.00		No Bid
PSF13O	49	Wood lam bookcase 5 shelf	255.58	12,523.42		No Bid
PSF15A	4	Conference table 4' x 8'	497.77	1,991.08		No Bid
PSF15B	1	Conference table 4' x 12'	577.41	577.41		No Bid
		TOTAL FOR AWARD GROUP #8		43,139.27		No Bid
		Award Group #9				
		Manufacturer: Shellie Radison Series		iflex		
PSF16B		Single pedestal desk 30" x 48"	215.29	51,023.73		No Bid
PSF16C		Secretarial desk right return	452.94	3,623.52		No Bid
PSF16D		Secretarial desk left return	452.94	2,264.70		No Bid
PSF16E	278	Bookcase 60" x 36" x 12"	150.59	41,864.02		No Bid
		TOTAL FOR AWARD GROUP #9		98,775.97		No Bid
		Award Group #10				
		Manufacturer: spec Natl. Public Seating 8210 Melody	NPS As	Specified		
PSF22	140	Student music posture chair	45.62	6,386.80		No Bid

DATE OF	<b>OPENI</b>	NG: January 29, 2009 @ 1:30 pm	We	enger	
TITLE: F	urniture	3 Schools COES, ODES, & FHS	555 Pa	ark Drive	
BID NUM	BER 11-	001-AF	Owatonna, MN 55060		
		**Board Meeting March 2, 2010**			
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	
		Award Group #8			
		Manufacturer: spec Hon 10600/80192/L series			
PSF13A	3	Wood lam desk 72" x 36"		No Bid	
PSF13B	2	Wood lam DP desk 66" x 60"		No Bid	
PSF13C	9	Wood lam secretarial desk left return		No Bid	
PSF13D	12	Wood lam secretarial desk right return		No Bid	
PSF13E	7	Wood lam storage credenza		No Bid	
PSF13F	9	Wood lam knee space credenza		No Bid	
PSF13I	12	Wood lam end table		No Bid	
PSF13K	11	Wood lam lateral file cabinet		No Bid	
PSF13N	6	Wood lam bookcase 2 shelf		No Bid	
PSF13O	49	Wood lam bookcase 5 shelf		No Bid	
PSF15A	4	Conference table 4' x 8'		No Bid	
PSF15B	1	Conference table 4' x 12'		No Bid	
		TOTAL FOR AWARD GROUP #8		No Bid	
		Award Group #9			
		Manufacturer: Shellie Radison Series			
PSF16B		Single pedestal desk 30" x 48"		No Bid	
PSF16C		Secretarial desk right return		No Bid	
PSF16D		Secretarial desk left return		No Bid	
PSF16E		Bookcase 60" x 36" x 12"		No Bid	
		TOTAL FOR AWARD GROUP #9		No Bid	
		Award Group #10			
		Manufacturer: spec Natl. Public Seating 8210 Melody	Wenger	0930000	
PSF22	140	Student music posture chair	58.00		
-					

DATE OF OPENING: January 29, 2009 @ 1:30 pm		CBA	Ernie Morris Enterprises	
TITLE:	Furniture 3 Schools COES, ODES, & FHS	36 Weatherby Drive	PO Box 818	
	MBER 11-001-AF	Greenville, SC 28615	Bushnell, FL 33513	
	**Board Meeting March 2, 2010**			
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE	
	ABCO		57.20%	
	Allied Plastics			
	Allsteel			
	Amtab			
	Anderson Hickey Company			
	Artco Bell Corporation			
	B & B Library Shelving	45.00%		
	Balt			
	Best Rite (formerly Elite)			
	Blockhouse			
	Borroughs		22.90%	
	Bretford Manufacturing			
	Bush			
	Clarin			
	Community		34.20%	
	Evolve Systems			
	Fire King		46.20%	
	Fleetwood			
	Georgia Chair			
	Global Furniture Company			
	Hale			
	Hallowell			
	Hon Company		60.80%	
	Iceberg			
	Indiana Desk			
	Interior Concepts			
	Inwood		49.80%	
	KI			
	Kimball			
	K-Log			
	Knoll			
	Lloyd Barrington			

DATE O	F OPENING: January 29, 2009 @ 1:30 pm	Heritage Product Resources	Hertz Furniture
TITLE:	Furniture 3 Schools COES, ODES, & FHS	207 NW 1st Ave.	95 Mckee Dr.
	MBER 11-001-AF	Mulberry, FL 33860	Mahwah, NJ 07430
	**Board Meeting March 2, 2010**		
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE U	NIT PRICE TOTAL PRICE
		·	
	ABCO		
	Allied Plastics		
	Allsteel		
	Amtab		
	Anderson Hickey Company		
	Artco Bell Corporation		
	B & B Library Shelving		
	Balt		
	Best Rite (formerly Elite)		
	Blockhouse		
	Borroughs		
		30% Exception: Legacy 20%	
	Bretford Manufacturing	No pricer received	
	Bush		
	Clarin	40% No pricer received	
	Community		
	Evolve Systems		
	Fire King		
	Fleetwood		
	Georgia Chair		
	Global Furniture Company		
	Hale		
	Hallowell		
	Hon Company		
	Iceberg		
	Indiana Desk		
	Interior Concepts		
	Inwood		
	KI	25% - 30% No pricer received	
	Kimball		
	K-Log		
	Knoll		
	Lloyd Barrington		

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Holmes & Brakel International	Longs Electronics
TITLE: Furnit	ure 3 Schools COES, ODES, & FHS	3901 Coconut Palm Dr, Suite 102	2630 5th Avenue South
BID NUMBER	<u> </u>	Tampa, FL 33619	Irondale, AL 35210
· -	**Board Meeting March 2, 2010**		·
ITEM# QT	Y. DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE
	•		
	ABCO		
	Allied Plastics		
	Allsteel		
	Amtab		
	Anderson Hickey Company		
	Artco Bell Corporation		
	B & B Library Shelving		
	Balt		
	Best Rite (formerly Elite)		
	Blockhouse		
	Borroughs		
			41% off AV Carts
	Bretford Manufacturing		No pricer received
	Bush		
	Clarin		
	Community	59.41% No pricer received	
	Evolve Systems		
	Fire King		
	Fleetwood		
	Georgia Chair		
	Global Furniture Company	Tier pricing	
	Hale		
	Hallowell		
	Hon Company		
	Iceberg		
	Indiana Desk	58.5% No pricer received	
	Interior Concepts		
	Inwood		
	KI		
	Kimball		
	K-Log		
	Knoll		
	Lloyd Barrington		

DATE O	F OPENING: January 29, 2009 @ 1:30 pm	Melhart Music Center	Office Furniture Center
TITLE:	Furniture 3 Schools COES, ODES, & FHS	3325 N. 1oth Street	2117 West Lemmedu Blvd.
	MBER 11-001-AF	McAllen, TX 78501	Tampa, FL 33606
	**Board Meeting March 2, 2010**		
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE
	1,500		
	ABCO		
	Allied Plastics		
	Allsteel		
	Amtab		
	Anderson Hickey Company		
	Artco Bell Corporation		
	B & B Library Shelving		
	Balt		
	Best Rite (formerly Elite)		
	Blockhouse		
	Borroughs		
	Bretford Manufacturing		
	Bush		
	Clarin		
	Community		
	Evolve Systems		
	Fire King		
	Fleetwood		
	Georgia Chair		
	Global Furniture Company		56.10%
	Hale		
	Hallowell		
	Hon Company		58.50%
	Iceberg		
	Indiana Desk		57.70%
	Interior Concepts		
	Inwood		
	KI		
	Kimball		
	K-Log		
	Knoll		
	Lloyd Barrington		

DATE OF OPENING: January 29, 2009 @ 1:30 pm		Pride Enterprises		Schoolhouse Products Inc.		
TITLE:	Furniture 3 Schools COES, ODES, & FHS	12425 28th St	12425 28th St. North, Suite 300		13517 Prestige Place, Suite 101	
	MBER 11-001-AF	St. Petersbi	urg, FL 33716		FL 33635	
	**Board Meeting March 2, 2010**					
ITEM#	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
	1.50					
	ABCO					
	Allied Plastics					
	Allsteel					
	Amtab					
	Anderson Hickey Company					
	Artco Bell Corporation			52	2.00%	
	B & B Library Shelving					
	Balt				3.00%	
	Best Rite (formerly Elite)			48	3.00%	
	Blockhouse					
	Borroughs					
	Bretford Manufacturing			56	5.50%	
	Bush					
	Clarin					
	Community					
	Evolve Systems					
	Fire King					
	Fleetwood					
	Georgia Chair					
	Global Furniture Company			52	2.00%	
	Hale					
	Hallowell					
	Hon Company					
	Iceberg					
	Indiana Desk					
	Interior Concepts					
	Inwood					
	KI					
	Kimball					
	K-Log					
	Knoll					
	Lloyd Barrington					

DATE OF OPENING: January 29, 2009 @ 1:30 pm		School	School Specialty		Virco
TITLE:	Furniture 3 Schools COES, ODES, & FHS	100 Parag	gon Parkway	Hwy. 65 South	
	MBER 11-001-AF	Mansfield,	OH 44903		, AR 72032
	**Board Meeting March 2, 2010**				,
ITEM#	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
			•		•
	ABCO	5	0%		
	Allied Plastics				
	Allsteel				
	Amtab	4	5%		
	Anderson Hickey Company				
	Artco Bell Corporation				
	B & B Library Shelving				
	Balt	46.	.00%		
	Best Rite (formerly Elite)	46.	.00%		
	Blockhouse				
	Borroughs				
			35% Library		
	Bretford Manufacturing	No price	er received		
	Bush	48.	.00%		
	Clarin				
	Community				
	Evolve Systems				
	Fire King		.00%		
	Fleetwood		.00%		
	Georgia Chair		.00%		
	Global Furniture Company	52.	.00%		
	Hale				
	Hallowell	50.	.00%		
	Hon Company				
	Iceberg				
	Indiana Desk				
	Interior Concepts	35% No pr	ricer received		
	Inwood	51.	.00%		
	KI				
	Kimball				
	K-Log				
	Knoll				
	Lloyd Barrington				

DATE OF	F OPENING: January 29, 2009 @ 1:30 pm	Wenger	
TITLE: I	Furniture 3 Schools COES, ODES, & FHS	555	Park Drive
	IBER 11-001-AF		na, MN 55060
	**Board Meeting March 2, 2010**		
ITEM#	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE
			•
	ABCO		
	Allied Plastics		
	Allsteel		
	Amtab		
	Anderson Hickey Company		
	Artco Bell Corporation		
	B & B Library Shelving		
	Balt		
	Best Rite (formerly Elite)		
	Blockhouse		
	Borroughs		
	Bretford Manufacturing		
	Bush		
	Clarin		
	Community		
	Evolve Systems		
	Fire King		
	Fleetwood		
	Georgia Chair		
	Global Furniture Company		
	Hale		
	Hallowell		
	Hon Company		
	Iceberg		
	Indiana Desk		
	Interior Concepts		
	Inwood		
	KI		
	Kimball		
	K-Log		
	Knoll		
	Lloyd Barrington		_

DATE O	F OPENING: January 29, 2009 @ 1:30 pm	CBA	Ernie Morris Enterprises	
TITLE: Furniture 3 Schools COES, ODES, & FHS		36 Weatherby Drive	PO Box 818	
BID NUMBER 11-001-AF		Greenville, SC 28615	Bushnell, FL 33513	
	**Board Meeting March 2, 2010**			
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE	
	Luxor Specialty Furniture			
	Lyons Metal Products			
	Midwest Folding Products			
	Mitchell Tables		45.20%	
	National Public Seating		45.30%	
	Oklahoma Sound		45.30%	
	Palmer			
	Palmieri Library Furniture	35.00%		
	Paragon			
	Penco			
	Pepco			
	PRIDE			
	Revolution Products	45.00%		
	Royal Seating			
	Rubbermaid			
	Safco		45.10%	
	Sandusky Lee		46.20%	
	Scholarcraft			
	Screenflex		20.20%	
	Shain Shop-Built			
	Shellie Desk		47.20%	
	SICO America, Inc.			
	Smith System			
	Southern Aluminum			
	Spectrum Furniture			
	Tennsco		42.10%	
	United Chair			
	Virco Manufacturing			
	Waddell		25.10%	
	Walker, McGuire			
	Wenger			
	Whitehall Furniture			
	Worden			

DATE OF	OPENING: January 29, 2009 @ 1:30 pm	Heritage Product Resources	Hertz Furniture
TITLE: Furniture 3 Schools COES, ODES, & FHS		207 NW 1st Ave.	95 Mckee Dr.
BID NUM	IBER 11-001-AF	Mulberry, FL 33860	Mahwah, NJ 07430
	**Board Meeting March 2, 2010**		
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE U	NIT PRICE TOTAL PRICE
	Luxor Specialty Furniture		•
	Lyons Metal Products	40% No pricer received	
	Midwest Folding Products	30% No pricer received	
	Mitchell Tables	10% No pricer received	
	National Public Seating	35% No pricer received	
	Oklahoma Sound	35% No pricer received	
	Palmer		
	Palmieri Library Furniture		
	Paragon		
	Penco		
	Pepco		
	PRIDE		
	Revolution Products	,	
	Royal Seating	25% No pricer received	
	Rubbermaid		
	Safco		
	Sandusky Lee		
	Scholarcraft		
	Screenflex		
	Shain Shop-Built		
	Shellie Desk		
	SICO America, Inc.		
	Smith System		
	Southern Aluminum	30% No pricer received	
	Spectrum Furniture		
	Tennsco		
	United Chair		
	Virco Manufacturing		
	Waddell	20% No pricer received	
	Walker, McGuire		
	W		
	Wenger		
	Whitehall Furniture		
	Worden		

TITLE: Furniture 3 Schools COES, ODES, & FHS  BID NUMBER 11-001-AF  **Board Meeting March 2, 2010**  Tampa, FL 33619  Irondale, AL 35210  **Board Meeting March 2, 2010**  TEM# QTY. DESCRIPTION  Luxor Specialty Furniture  Lyons Metal Products  Midwest Folding Products  Mitchell Tables  National Public Seating  Oklahoma Sound  Palmer  Palmieri Library Furniture  Paragon  Penco  Penco  Pepco  PRIDE  Revolution Products  Royal Seating  Rubbermaid  Safco  Sandusky Lee  Scholarcraft  Screenflex	
BID NUMBER 11-001-AF  **Board Meeting March 2, 2010**  ITEM# QTY. DESCRIPTION  Luxor Specialty Furniture  Lyons Metal Products  Midwest Folding Products  Mitchell Tables  National Public Seating  Oklahoma Sound  Palmer  Palmieri Library Furniture  Paragon  Penco  Penco  Pepco  PRIDE  Revolution Products  Royal Seating  Rubbermaid  Safco  Sandusky Lee  Scholarcraft Screenflex	
**Board Meeting March 2, 2010**    TEM#   QTY.   DESCRIPTION	
TEM# QTY. DESCRIPTION  Luxor Specialty Furniture  Lyons Metal Products  Midwest Folding Products  Mitchell Tables  National Public Seating  Oklahoma Sound  Palmer  Palmer  Paragon  Penco  Pepco  PRIDE  Revolution Products  Royal Seating  Rubbermaid  Safco  Sandusky Lee  Scholarcraft  Screenflex	-
Luxor Specialty Furniture Lyons Metal Products Midwest Folding Products Mitchell Tables National Public Seating Oklahoma Sound Palmer Palmer Palmeri Library Furniture Paragon Penco Pepco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	E
Midwest Folding Products  Mitchell Tables  National Public Seating  Oklahoma Sound  Palmer  Palmer  Palmeri Library Furniture  Paragon  Penco  Pepco  PRIDE  Revolution Products  Royal Seating  Rubbermaid  Safco  Sandusky Lee  Scholarcraft  Screenflex	
Mitchell Tables National Public Seating Oklahoma Sound Palmer Palmer Palmieri Library Furniture Paragon Penco Pepco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
National Public Seating Oklahoma Sound Palmer Palmer Palmieri Library Furniture Paragon Penco Pepco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Oklahoma Sound Palmer Palmeri Library Furniture Paragon Penco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Palmer Palmieri Library Furniture Paragon Penco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Palmieri Library Furniture Paragon Penco Penco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Paragon Penco Pepco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Penco Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Pepco PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
PRIDE Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Revolution Products Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Royal Seating Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Rubbermaid Safco Sandusky Lee Scholarcraft Screenflex	
Safco Sandusky Lee Scholarcraft Screenflex	
Sandusky Lee Scholarcraft Screenflex	
Scholarcraft Screenflex	
Screenflex	
Shain Shop-Built	
Shellie Desk	
SICO America, Inc.	
Smith System	
Southern Aluminum	
Spectrum Furniture	
Tennsco	
United Chair 57.3% No pricer received	
Virco Manufacturing	
Waddell	
Walker, McGuire	
Wenger	
Whitehall Furniture	
Worden	

DATE O	F OPENING: January 29, 2009 @ 1:30 pm	Melhart Music Center	Office Furniture Center	
TITLE:	Furniture 3 Schools COES, ODES, & FHS	3325 N. 1oth Street	2117 West Lemmedu Blvd.	
BID NUMBER 11-001-AF		McAllen, TX 78501	Tampa, FL 33606	
	**Board Meeting March 2, 2010**			
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE	
	Luxor Specialty Furniture			
	Lyons Metal Products			
	Midwest Folding Products			
	Mitchell Tables			
	National Public Seating			
	Oklahoma Sound			
	Palmer			
	Palmieri Library Furniture	<u></u>		
	Paragon			
	Penco			
	Pepco			
	PRIDE			
	Revolution Products	<u> </u>		
	Royal Seating			
	Rubbermaid			
	Safco			
	Sandusky Lee			
	Scholarcraft			
	Screenflex			
	Shain Shop-Built			
	Shellie Desk			
	SICO America, Inc.			
	Smith System			
	Southern Aluminum			
	Spectrum Furniture			
	Tennsco			
	United Chair			
	Virco Manufacturing			
	Waddell			
	Walker, McGuire			
	Wenger			
	Whitehall Furniture			
	Worden			

<b>DATE OF OPENING: January 29, 2009 @ 1:30</b>	<b>) pm</b> P1	ride Enterprises	Schoolhouse Products Inc.	
TITLE: Furniture 3 Schools COES, ODES, & F	THS 12425 28	th St. North, Suite 300	13517 Prestige Place, Suite 101	
BID NUMBER 11-001-AF		ersburg, FL 33716	Tampa, FL 33635	
**Board Meeting March 2,			1	
ITEM# QTY. DESCRIPTION	UNIT PRIC	CE TOTAL PRICE	UNIT PRICE TOTAL PRICE	
Luxor Specialty Furniture		•	40.00%	
Lyons Metal Products				
Midwest Folding Products			General 36%, Cafeteria 38%	
Mitchell Tables				
National Public Seating			46.00%	
Oklahoma Sound			46.00%	
Palmer				
Palmieri Library Furniture				
Paragon				
Penco				
Pepco				
PRIDE	58% Me	tal Furniture Excluded		
Revolution Products				
Royal Seating				
Rubbermaid				
Safco				
Sandusky Lee				
Scholarcraft				
Screenflex				
Shain Shop-Built			39.00%	
Shellie Desk				
SICO America, Inc.				
Smith System			45.00%	
Southern Aluminum				
Spectrum Furniture				
Tennsco				
United Chair				
Virco Manufacturing				
Waddell				
Walker, McGuire				
Wenger				
Whitehall Furniture				
Worden				

DATE OF	OPENING: January 29, 2009 @ 1:30 pm	School Specialty	Virco
TITLE: Furniture 3 Schools COES, ODES, & FHS		100 Paragon Parkway	Hwy. 65 South
BID NUMBER 11-001-AF		Mansfield, OH 44903	Conway, AR 72032
	**Board Meeting March 2, 2010**		
ITEM#	QTY. DESCRIPTION	UNIT PRICE TOTAL PRICE	UNIT PRICE TOTAL PRICE
	Luxor Specialty Furniture	25.00%	
	Lyons Metal Products	36.00%	
	Midwest Folding Products	38% General Line Only	
	Mitchell Tables	48.00%	
	National Public Seating	46.00%	
	Oklahoma Sound	46.00%	
	Palmer	46.00%	
	Palmieri Library Furniture	·	
	Paragon	45.00%	
	Penco		
	Pepco		
	PRIDE		
	Revolution Products	<u>,</u>	
	Royal Seating	42.00%	
	Rubbermaid	15.00%	
	Safco	42.00%	
	Sandusky Lee	40.00%	
	Scholarcraft	50.00%	
	Screenflex	13.00%	
	Shain Shop-Built	45.00%	
	Shellie Desk		
	SICO America, Inc.		
	Smith System	38.00%	
	Southern Aluminum	42% No pricer received	
	Spectrum Furniture		
	Tennsco	40% No pricer received	
	United Chair		
	Virco Manufacturing		61.00%
	Waddell	25.00%	
	Walker, McGuire		
	Wenger		
	Whitehall Furniture		
	Worden		

DATE OF	TE OF OPENING: January 29, 2009 @ 1:30 pm Wenger  TLE: Furniture 3 Schools COES, ODES, & FHS 555 Park Drive		Wenger
TITLE: I			Park Drive
BID NUMBER 11-001-AF		Owatonna, MN 55060	
	**Board Meeting March 2, 2010**		
ITEM#	QTY. DESCRIPTION	UNIT PRICE	TOTAL PRICE
	Luxor Specialty Furniture		•
	Lyons Metal Products		
	Midwest Folding Products		
	Mitchell Tables		
	National Public Seating		
	Oklahoma Sound		
	Palmer		
	Palmieri Library Furniture		
	Paragon		
	Penco		
	Pepco		
	PRIDE		
	Revolution Products		
	Royal Seating		
	Rubbermaid		
	Safco		
	Sandusky Lee		
	Scholarcraft		
	Screenflex		
	Shain Shop-Built		
	Shellie Desk		
	SICO America, Inc.		
	Smith System		
	Southern Aluminum		
	Spectrum Furniture		
	Tennsco		
	United Chair		
	Virco Manufacturing		
	Waddell		
	Walker, McGuire		
		5% or Max. Ot	y Break whichever is
	Wenger		pricer received
	Whitehall Furniture	5.5	T
	Worden		